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For gach guestion from 1 to 28, four oplions are given. One of them Is the correct answer. Make you

choice {1, 2, 3 or 4). Shade your answer on the Optical Answer Sheet.

[56 marks]

1

The diagrams below show lwo organisms.

fern

How zre the bwo organisms similar?

{1} They do not have roots,

{2} They do not have stems.

{3} They reproduce by spores.

{4) They do not make thelr own food.

Study the classification chart below.

Yes Can it fly?
Oones it
have
three
body NG
2 ,
parts’ . Canitfly?

Which of the following stalements is correct 2

{1) Clsabat

(2) Bis a spider,

(3} A and B are birds,

{4) B and D are mammals,
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3 Belie drew the diagram below to show the direction of blood flow in the human circulatery
system.

A B .
heart 1 lungs 7 legs
e D
Which arrows are drawn corractly?
(1} AandB only
{2) AandConly
{3) BandDonly
(4) All of the above
4 Study the information in the table below.
Found in
flowering plant human
Male reproductive cell Anther 8
Female reproductive celj A C

Which of the following correctly identifies A, 8 and C?

A B8 c
(1) ovules penis ovary
{2) ovary penis ovules
{3) ovary testes ovules
{4 ovules testes ovary
2
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5

8

Mr Tan found some weeds growing among his plants in his garden as shown in the dlagray,

below.

plant

He found that his planis were not growing healthily when the weeds started growing. Based on
the diagram above, which of the following best explains why Mr Tan's plants were not growing

healthily?

{1

The weeds competed with the planis for air.

{2} The weeds competed with the plants for water.
{3) The weeds competed with the plants for warmth,
(4) The weeds competed with the plants for sunlight,

The life cyele of a flowering plant is shown below. C and I represent stages in the iife cycle,

stage C
E
t D seed
stage \—/
G
which of the following is correct? {
pollination germination

(1) G E
(2) F E
(3) G F
(4) F G
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Devt investigated the effect of fight and water on mould growth on bread. She set up an
expsriment using three pleces of bread, R, 8 and T, from the same loaf. The bread ware toasted.
Different amounts of water were sprayed on the bread before being placed in different locations.

Devi chsgrved the following results on Day .

mouid .|

Bread R Bread 8 Bread T
{well-lit room) {well-lit room) {dark rooms}

Bread | Number of sprays of water
R 0
8 3
T 3

What can she conciude from the investigation?

Mould needs warmth o grow.
Mould grows faster in the dark.

Mouid does not need light {o grow.

[ 2 T R

Mould grows faster withoui water.

(1) AandBonly
{2) Band Conly
(3) A, Band Conly
(4} B, CandDonly
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8 A ring of stem from a plant was removed as shawn below, As a result, the tubes carrying foag
wers removed.

ring of stem removed

Frult B

Which of the following correctly describes the appearance of fruiis A and B after a week?

Fruit A Fruit B
{1} increases in size increases in size
{2) increases in size remains the same
(3) decreases in size decreases in size
{4) remains the same increases in size
{
5
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8 The diagram below shows what happens when an animal cell is placed in a beaker contalning
substances Y and Z.

At the start After some time

Based on the information above, which of the following correctly describes the cell membrane?

(1)
(2)
3)
(4)

it gives the cell a regular shape.

It controls ihe activities in the cell,

it allows substance Z to leave the cell,
H allows substance Y to enter the cell.

16 Study the food chain shown below.

P——»Q———R

When organism S was introduced into the environmendt, the population of Q increased.

Which of the following is not a possible reason?

("
(2)
()
0

Organism S is a plant.

Organism S feeds on P. o f
Organism 8 is a prey of R, ’
Organism S is a predator of R.
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11 Firas recorded the differant organisms he saw at the school pond in the table below.

Organism Number
tadpole 3
guppies T4

frog 1

. dragonfly 2
water lettuce 5
duckweed | 10
water lotus 1

How many populations of producers and consumers are in this habitat?

Number of populations of
producers consumers
(1) 3 4
(2) 3 3
(3) 2 3
4) 2 4
7
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12 Marian prepared sel-ups A, B and C as shown in the diagram bslow. She measured the amount
of oxygen in each of tha contalners befors leaving them in an open field for a day.

stopper .. iZ@?f
A A wooden W

glass
[~ containers ™ contalner ™|
plant e
Secls — bl 2
Setup A Setup B Set-up G

At the end of her experiment, Marian measured the amount ¢f oXygen in each of the containers
again,

Which of the fallowing shows the chiangs in the amount of oxygen in each of the set-ups at
the end of the experiment?

A B G
{1 increase no change increass
{2} decrease increase increase
(3} decreass increase na change
(4) decrease increase decrease
{
8
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13 Haziq used fruit P shown below o find out the average time taken for it to reach the ground when
it is released from a height.

wing-like structure

He conducted lhrea exparimonts al the same location. The results of his experiments are
recorded as shown. '

: ke Helaht of dro Averagg time taken
erperiment | "I | Tom " | orruittorach
p 4 180 56
> 2 H 4.7
A y ' 150 | T

What are the possible values of Hand 77

H T
T} 110 4.2
) 710 59
Y 180 42
@ 180 5.0
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14

Topsoil is the most fertile soil for plant growth. An experiment is conducted as shown below. The
same amount of waler is poured from the top of sach of the three sections of a stope of soll.

water ﬂ s0il

The amount of soii collected in each seclion is measured.
F 3

Amount of sol!
collected (g)

.

*» section

A B C

Which of the following conclusion(s) can be drawn from the experiment above?

A Deforestation ieads to global warnming.
B  Deforested areas have jess topsoil.
C  The roots of plants held the soil iogether to reduce soil erosion.
D ¢ The roots absorbed all the water in the soil,
{1} A only
(2} Aand C only
(8} BandConly
(4)  CandDonly

10
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15  The table below shows the properties of four materials, A, B, C and D. A tick (v) indicates 1,%
presence of property in the malerial.

- Which material, A, B, C or D, is suilablg o make part W which is used for grilling of food?

‘ Property
~ Material strong flexible z::; c::s; }i;r%l:ltgtlz gcodogzr;cai ’:zctor
{1) A v
(2) B v
(3) C v v
(4) 3] v v

16 Mégnet (0 was fixed to the table. Maghet R was brought close to Magnet Q as shown below.

R Q

Which of the following shows the direction of the different forces acting on magnet R?

Magnetic force Frictional force Gravitational force
(H « - t
(2) — - T
(3) - & 2
(4) ~ - }
11
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18

The graph shows the length of four rubber bands, A, B, C and D, when a load is hung onto
them.

Length of rubber band (cm)
f 3 A

-» Mass of load

Kumar wants to choose an elastic band to make a catapult that can launch a stone over the
greafest distance when pulled back by a fixed length.

Which rubber bang, A, B, C or D, should Kumar choose?
(M
(2)
(3)
(4)

c O w>P

The dentist uses a mouth mirror to examine the teeth of her patient,

Which of the following best explains how the dentist is able to see the teeth in the mouth
mirror ?

(1)  The mouth mirror shines light onto the teeth for the dentist to see.

{2)  The mouth mirror reflects light from the teeth for the dentist to see.

{3} The mouth mirror absorbs light from the teeth for the dentist to see.

{4}  The mouth mirror allows light to pass through the teeth for the dentist to see,

12
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18  Eskimos build igloos with ice blocks for shelter as shown in the following diagram,

opening

Which of the following best explains how the Igloos keep the Eskimos warm?

(1) Coldness in the surrounding air is conducted into the igloos slowly as the ice Is a poor
conductor of heat,

(2) Coldness in the surrounding air cannot enter due to the tiny opening of the igloo.

{3} Heat from the hot alr inside the igloo cannot be conductad out of the igico as ice is a
poor conductor of heat

(4) Heat from the hot air inside the igioo is conducted out of the igloo slowly as ice is a poor
conductor of heat,

20 The diagram below shows a head torch_ powered by batteries. .

head {orch

batteries

Which of the following correctly shows the energy changes in the head torch?

(1)  potential energy -> heat energy > light energy
(2) electrical energy -» light energy + heat energy
{3) potential energy > electrical energy -> light energy + heat energy
(4) electrical energy - potential energy - light energy + heat energy

13
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21 Deming pasted a film on a glass window to reduce the amount of sunlight coming into the room.
Some air bubbles were frapped under the film as shown below.

window frame

/

e
&
sif bubbles —fF
trappet between
film and glass
window P film side view

What will happen to the total volume and the mass of air in the gap if the weather becomes very
hot for a few weeks?

Volume of air in the gap Mass of air in the gap
(1) increase remain the same
(2) increase incroase
(3) remain the same increase
(4} remain the same remain the same
14
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22 Four identical ¢loths A, B, C and D sach contalning the same amourt of water, wera left to dry
under different conditlons 1, 2, 3 and 4. '

¢loth Is folded

" condition 1 “condition 2 condiion3  condltion 4

hot hot cool cool
windy no wind windy no wind

* She recarded the mass of each cloth after an hour and plotted the graph below.

Mass (g)

E 3

200

[ 1 :

A B C D

Based on the results in the graph above, which of the {ollowing is correct?

gonditlon 1 conditlon 2 condition 3 conditlon 4
{4} B P C A
{2) A ( c D B
{3) B A c D
{4) A B C D
15
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23

24

The table below shows the melting and bolling peint of three substances, E, F and G.

Substance Melting Point {°C} Boiling Point (°C)
E 2 28
F 10 21
G 32 50

Jiaqi wants {o store the substances for a long period of time,

Which of the following substance(s) has to be stored in a sealed container at 30 °C to prevent it

from escaping into the surroundings?

{1
2
3
{4

)
)
)
)

F only

E and F only
E and G only
E.Fand G

Study the circuit diagram below. Materials £, Q and R were connected to the circuit below.

B1

B3 B4

il

AP

R

{

Which one of the following most llkely represents the materials, P, Q and R, and the number of

buibs that lighted up?
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P Q R Number of lit bulbs
@y steel glass aluminium 4
(¥4 aluminium iron glass 3
(3} glass copper steel 2
(4) copper glass ron 3
16



25 Davinia noticed that the green exit sign above the door was faulty. Only the bulbs behind threg
letters, X, Land T were IIt, but the letter £ was not.

Yy

B I/

U o ietter letters
not lit it

EXIT

\

door

All the components usad are identical and I good working condition.
Which of the following shows the correct arrangement of the circult?

(1)

L

@
(3) )

B + Q8 Tole o

17
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26  The graph shows the axtension of spring Q and spring R when differant loads wears hung on
them. Tha Initlal length of Springs Q and R wera 8 cm.

Extenslen 4 spring R spting Q
(cm} 4 /
3
2
1
» Mass (g)
0 100 200 300

Which of the following is correct?

mass of load whe'n final length of | final length of spring R
spring G is 10 em with 200 g load
(9 (cm)
(1) 100 10
(2) 200 12
(3) 100 12
(4) 200 10
{
18
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27 Karen has three wooden framss P, Q and R as shown below,

frame P frame Q frame R

10 om 10 ¢m 10cm

>
10 om 10 om 10 cm:

She hung the frames between a lamp and a screen. The shadows formed on the screen are
shown below,

position 1 position 2 position 2

Mg 7 ? % *
o Yt Lz screen

frame

4 T 3 B R ¢ 1 i £ 0 s Ly

L A it g | 8 PTA  d  pay £

shadows on the sereen

Which of the following corractly shows the positions of frames P, Q and R?

Position 1 Position 2 Position 3
{1} Q R P
(2) P Q R
(3 Q P R
{4) R P Q
19
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28 A ball is rolled down a slope. The graph shows the amount of different types of energy of the

ball at point P.
Energy {unit}
&
30
Y P
Types of energy
Key

potential energy kinstic energy D heat energy

The experiment is repeated with sand applied on the slope. Which graph correctly shows the
amounts of different types of energy at P?

() Egnergy (units) (2) Er}ergy {units)
IS >
30 | 30 Amm e mmmmm e
i H » Forms of energy
(3) {4)
Energy (units} En:argy {units)
30 Py T 30 -
[__l » Forms of energy il [ » Forms of energy
END OF BOOKLET A

20
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For questions 29 to 40, write your answars in this booklst,
The number of marks available is shown in brackets [ ] al the end of each question or part question.

[44 marks]
28 (&) | Study the information below.,
* Visthe food producer,
+ X is the only plant-eater.
« W feeds on animals only,
Complete the food web to show the food relationships among V, W, X, Y and 2. {1]
A
—(O—O
(b} Which organism {s) is / are both a prey and a predator. (1]
{c) The diagram below shows the fruit of organism V that has been cut open.
juicy flesh with small
and indigestible seads
Explain how organisms that feed on V help in its seed dispersat. {1]
{Go on fa the next page)
SCORE
1 3
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30 Animal P is usually found perching on the back of animal C as shown bolow. Animal P feeds on
pests that hide in the hair of animal €. Pests feed on the biood of animal C.

animal P

{a) Based on the information given above, describe how Animal P and C benefit from their
relatlonship with each cther. (2]

() Benefit for Animal P:

(i) Benefit for Animal C:

Animal C lives In forested areas near rivers. On hot days, it dips ilseif in the water to wet its body
from time to time,

{b) Explain how the dipping in the water to wet its body help keep animal C cool. n

(Go on to the next page)
SCORE
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31 {a) Describe how the digestive systam and circulatory systam work together in our body.  [2]

The dlagram below shows the changes in the amount of digested food as it goes through the
different parts of the digestive system,

Amount of

digested food
F

L 4

mauth gullet stomach small large
intestine intestine

{b) Why is there no change in the amount of digested food in the gullet? (1]

{c) The elderly usually have few teeth left. They have difficully eating big pieces of food.

Explaln how having few leeth coutd result in a lower rate of digestion. {1]
{Go on to the next page)
SCORE
4
3
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32

Mosquito A spreads disease D in humans. The diagram below shows its life cycle.

adult

iarva

An experiment was conducted o find oul how tha surrounding temperature would affect the
duration the eggs (ake lo develop into adult mosquitoes. The resulls are shown in the table
below.

Surrounding temperature {*C)
28 30 3z 34
’;Jration of 2gg siage (days) 14 11 9 7

{(a) State how the sumrounding temperature would affect the length of one complete life cycle
of Mosquito A, M

in country 8, its temperature and amount of rainfall affect the number of disease D ¢ases.
The graph below shows the average monthly lemperature and amount of rainfafl in country 8.

300 25
T 250 0_....-0-—"'4} o 0
‘o 200 %
) 20 &
O & 150 ol
”‘g‘ L 15 '_';-;-“
© 100 B 1 2
< 50 '-' -.é
0 [}

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
T Srainfali —o—temperature

Question 32 continues next page
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{b)  Based on the information given, In which period would there be an Increass in disease D
cases? Put a tick (V) in the correct box.

Between January and June

Between July and December

State two reasons for your answer. (2}

Reason 1:

Reason 2:

A device is put at different locations with a high number of disease D cases. This devite
contains a liquid that attracts female mosquitoes A that ars looking for places to lay eggs. The
mesh-like netting at the base of the inner cup traps the aduli mosquitoes that emerge from the
pupag,

opehing in lid

\ e iAINET CUP With
sticky lining at the

Py SR sides

mesh-like netting

outer container

= = o oo ~=t—liquid that attracts
— e = e~ female rm:asq&,silcﬂ'r

{c) Besides {rapping the mosquitoes under the netting, explain another way how this device heip
to reduce the number of cases of disease D. 1

{Go on to the next page)
SCORE
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33 (a} Four paris of 3 plant are shown below. Draw arrows (~———») In the diagram below to
show how water is transported In a plant, N

roots fruits

p

stem |———>] leaves 1

{b) Describe the process of photosynthesis in green plants, (1]

Meixin conducted an expedment to find out how temperature affects the number of bubbies
produced by & water plant.

thermometer \
AE / water plant

P

F

{[-g-1-‘xg-{v1.,v,.!x.q,-ﬂ

ruier

{  She set the temperature of water at 10 °C and switched on the lamp. She counted the number

of bubbles produced per minute. She repeated the experiment at 20 °C and 30 °C. Her resulls
are shown balow,

Temperature of water (°C) Number of bubbles
produced per minute
10 4
20 11
30 24

Question 33 continues next page
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{c)

Meixin wants to conduct another experiment fo find out how the intensity of light affects
the number of bubbles produced,

Describe how Melxin could carry out the experiment without changing any of the -

apparatus in the set-up above, [2]

{Go on to the next page)

SCORE
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34 Sea turtles live in the sea but lay their eggs on beaches.
Eqgs are laid

g on beaches
Young sea turtie G@ =
y .

grows into adult
in the sea

Young sea urties
enter the sea

The population of sea turties is decreasing due to global warming.

(@)  State two human activities that result in global warming. (1}

{b) Explain how global warming causes the sea turtles to lose the place for laying eggs.  [1]

The information below shows how temperature affects the voung of animal X developing Inside
the eggs to be a male or a female.

Temperature {°C) Gender of young produced S
Setween 30 and 35 Male
Between 35 and 40 Female

(¢} Based on the information above, suggest a reason why the population of sea turtles will
decease when the temperature of the surroundings rises above 35°C due to globat
warming. 1]

{Go on to the naxt page}
SCORE
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35 The diagram below shows 2 test tube fillad with some limewater, Limewater tums chalky in the
presence of carbon dioxide. Sally blew alr Into the fimewater several times through the delivery

tube.
air blown through
dotlvery tube T] [_
S8l Iimewaler
{a) State why thellmewater In the test tube {urned chalky after Sally blew into it. [1]
{b} Name the gas that remained unchanged in the air Sally took In and blew out. (11

The diagram below shows a bus on a rainy day. [t was observed that water droplets started
forming on the inside of the window even though no rain could get in.

4
1
1:
J

' L
1]
'

Il
I

L
L
[l
1
1
Ll
L

water droplets formed
inside the windows

Guestion 35 continues next page
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The graph below shows how the number of passengers affect the amount of water droplets ::
formed on the windows.

Amount of water droplets
on the window
4
Number of
5 10 15 20 passengers

{c}) Explain the refationship between the amount of water droplets formed on the windows and

the number of passengers. 2]
_Bs
ot
(Go on to the next page)
SCORE
4
10
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36 (a) State what melting means. {1}

In an experiment, Stacy investigated the effect of substance X on crushed ice. She placed an
equal amount of crushed ice In two funnels and added substance X {o one funnsel as shown
below,

5 g of substance X
added

srushed ice

measuring
cylinder

Set-up A Set-up B

She measured the volume of water collected in each cyiinder after 20 minutes and recorded the
resufts in the graph shown below,

Volume of water
collected (ml)

F

» Time {min)

(b) Based on the results of the experiment, what is the effect of substance X on the melting
point of ice? [1]

Question 36 continues next page

11
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it is 8 common practice in soma countries 10 sprinkle substance X on the roads.

(c) Based on tha results of the experimant, explain how sprinkiing substance X on the roads
help vehicles move through more easily after 2 heavy snowiall. (1

{Go on to the next page)
SCORE |

12
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37 A hest camera can detect diffsrent temperatures. Each number represents a different colour.

Temperature
{°C} 2130 3140 4180 65160 61-70  71-80

Colour ik 6

puipie green red

-

A metal bar was placed In a container of hot water at 80°C, When viewed through the heat
camera, the following colours were observed on the matal bar immediately.

__——metal bar

L——hot water (80°C)

(a) Based on the diagram above, explain why different colours were observed on the metal
bar. 4

Question 37 continues next page

13
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Two hours later, when viewed through the heat camera, only one colour was observed onthe
metal bar.

__—— metal bar

(b} Explain why only one colour was observed on the melal bar afier two hours. 1

The diagram below shows a lizard that lives in the deser. it runs across the hot sand by
alternating two of its four legs on the hot sand. :

eolours on

heat camera e

{c) When viewed through the heat camera, different colours were observed on the feet of the
lizard as shown abovg. Explain why. (2]

hct gand »

Explanation

Fool on the hot sand

Foot above the hot sand

{Go on ta the next pagse)
SCORE

5
14
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38 Tammy designed the sef-up balow 1o calch crows. When the crow stands on the metal plsiform
to eat the food, the fron door will be closed, trapplng the crow.

Crow
c‘-ﬁ'

iran door - NN\

metal platform

iron rod

{fond
¢onlacts spring '
(3} State a property of the contacts that allows the set-up lo work properly. 1)
(b) Describe and explain how the set-up works fo cafch the crow. 21

{¢} Timmy observed that the set-up above will not work for lighter crows.

Besides changing the spring, suggest an improvement he should make 16 his set-up such
that the sef-up could caich crows of a ighlar mass. | ]

{Go on to the naxt page)
SCORE

18
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39  Ming Lee setupa davice to count the number of drink botiles baing thrown Into a recyciing hox
a8 shown below,

ragycting box 1

H_,—-«llght source

T A ) ]} drink bottie

E‘\ light sensor connected to
datalogger

Drink botifes were thrown In one at a time. The datalogger recorded the following as shown
in the graph below.

amount of light
detecied by the sensor

(units) I_I

* time {uniis}

(a)  Based onthe above result, how many drink bottles were {hrown into the box? 1M

{b)  Explain why the graph shows a decrease in the amount of light detected by the light
sensor at certain times. M

{c)  Give a reason why the decrease in the amount of light detected by the sensor did not
reach zero. M

(Go on to the next page)
SCORE e

16
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40 A dry mop was suspended above the floor using a holder as shown In the diagram below.

i
handte o handte
holder 3 holder
wall
” close-up view of holder
m N mop head
(8}  Identify the force that prevents the mop from falling from the holder. . [1]

{b)  When the handle of the mop was wet, the mop kept falling from the holder.
Give a reason for this observation. (1]

(c)  After the mop was used to mop the floar, the mop head was dripping wet and the mop
kept faliing from the holder although the pand!e was dry,

Explain why this was so in terms of forces. [2)

END OF PAPER
{(Go on to the next page)
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SINGAPORE CHINESE GIRLS' PRIMARY SCHOOL
20624 PG PRELUMINARY EXAMINATION
MARK SCHEME (BODKLET 8)

{!3} f and W % mark each]

() Ths $riallndigeslible seeds ore eaten together with e fuil and passed

* outin the dronpinafwaste, (4] away fom ire parent plant to aduce /
: nre oprevanl gvercrowting. [443

P will bave g source of feotd / R can prolect P irom il predat org. {1

{u\ Cwill 00t tipys nastsf less pesls Lo feed on is bioed £ sn réqd
inlections, 13
(b}

1)

i Key idea: Revagmsa the funchion of Gigans of Gigestive spatam and Fow

all tver Boly syslems work togeiher

{a} The digesh’ue syslem breaks down fhod joto sispler substances
: giuro:,r; sugar Y] which is ahsgibed in!o the: bloodsyeamn. (4]

ol the hody {1}
{h) * Digestion of fuod does nol lake place n the gullel. [1)]

(c} Food i3 beng chewed lass, resulling in the lggec picsys of food 1]

l33virg less surfacs Diea n eoniact wiliy the doeshive wics [V, leading to :

" a lgwar rale of digeslion

For mare papers, Goto: S

tAnirnat © loses hiezt ko o viter 18] on its body as Ing waier evhporales.

i Key idea: We cyclo; data inforence shills

32 (a) ‘ Ag fhe sur
| svsle shonens / gacreases []
1
I

iy i Between July and Deocember ol vws' be coneci

. {Cause W21 )
l Reason 1 ;i—laghsr amauit of | Miore places of FROBOUAG 10 1ay
H aintall | eggs f move rainfall zhows
_______________ I m?!fv‘m",t_ﬁ_‘a'a9.[*.9.!%%!9.1?}7.999_3
] Higher ietperalute Duration of ife cygle of

osquite i shadlar,

(€} : The adul mosquitoes will ges stuck lo f brapoad by the sticky fining [3/2 -
abrsaration)

There will be fewer mosguitoes to shng / ieensmi) or spread disease DY
[1r2 - inferance]

Ky inea: Stale the requirements fwaler, gt enargy and tarbon dioxids)
for photosynthesis; nvestigate fagtors thal affect rafe of photos,«nmesrs

33 {a)

I the pressnce of Bght, carbon dloxide, waler {1/ i5 tken in by plants

Lo praduce glucosefsugacifood and oxygen. (1#72]

fehangod and congiant varighle — Tmf

» Without changing the tempamiure of water, [1/2] vary the distancs
between he lamp and The watar plan), [1/2]

[measured variahle - 1m]

+ Count the number of bubhles protduced per minule for sach distance,

a4 Key igea; reproduction in animals; human impact on enviranment
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34b | Global warming causes the polarice caps to melt, resulting in
rising sea levels and flooding / causing the sand to be covered in
sea water / covering the beaches.

34c | There will be fewer males to male with females. Hence, fewer eggs
will be hatched into young / lower rate or reproduction.

35a | Thereis carbon dioxide in exhaled air.

35b | Nitrogen

35c | Asthe number of passengers increase, more water vapour will be
in the air inside the bus.
More water vapour will condense on the cooler surface of the
windows.

36a | Melting is the change of state from solid to liquid at a fixed
temperate.

36b | Substance X lowers the melting point of ice.

36¢ | The piles of snow will melt faster, clearing the road for vehicles.

37a | The part of the metal bar that is in direct contact /nearer to the hot
water gained more heat / gained heat faster.
The part of the metal bar that is further away from the hot water
gained less heat/ gained heat slower.

37b | The metal bar lost heat to the surroundings and reached room
temperature / the same temperature as the surroundings.

37c | Footon the ground. The foot gained heat from the hot sand/ heat

from the hot sands is transferred to the lizard’s leg.

Foot above the ground. The foot lost heat to the surroundings /
cools down to the temperature of surroundings.
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3Ba | IT1S a conauctor OT eLlectricity/ electrical Conaucrtor.

38b | When crow lands on the metal platform to eat the food, the spring
will be compressed, causing the two contacts to touch to form a
closed circuit. The iron rod will become an electromagnet, and the
iron door will be attracted, closing the door to the cage.

38c | Increase the length of contacts/ Bring the metal contacts closer.

39a |5/ five

39b | Light from the light source was partially blocked from the light
sensor when a drink bottle was thrown in.

39c | Some drink bottles were translucent/ allowed some light to pass
through.

40a | Frictional force / friction between the handle of the mop and the
holder.

40b | Water (on the handle) reduced the amount of friction between the
handle and the holder.

40c | The mass of the mop increased/ the mop became heavier due to

the water it absorbed.

The weight of the mop / gravitational force acting on the mop is
greater than the frictional force between the mop and the holder.

For mare papers, Go to: SeriousfbouiSchaal comd/OnlineExams




